8 7 6
Model Path:C:\Metcast_Eng\Legacy\Metcast\Elevators\10" x 30" of a 14 SlI 8" x 10"\M-2930 10" x 30" Elevator Boot Ass'y, 14 S|

4

PART NUMBER

3 2 1
ITEM NO.| WEIGHT | QTY. DESCRIPTION PartNo Number | Rec'd_Spare
Elevator Boot Section
1 175.66 1 Weldment, 10" x 30" M-2701 11-2105-D
2 52.98 2 Take Up Plate M-2887 11-2114-B
Lower Screw Conveyor
3 13.28 1 Adaptor Plate M-420138 | 11-2113-B
Lower Screw Housing
4 12.43 1 Extension. 14 Sl M-2702 11-2106-B
Lower Screw Conveyor
5 52.85 1 Tube, 14 Sl y M-420221 | 11-2103-B
6 1.93 2 Bearing Shim Plate M-1998 10-1215-A -
7 0.02 2 Shaft Felt Seal M-676889 | 11-1446-A X
Elevator Boot Take up
8 1.10 2 Thrd'd Rod M-2892 11-2121-A -
9 15.23 1 Boot Pulley Shaft M-677923 | 11-1480-B -
10" x 30" Elevator Boot
10 12.78 1 Section Cover, Large M-2932 11-2175-B -
10" x30" Elevator Boot
11 4.89 1 Section Cover, Small M-2933 11-2176-B -
12 123.25 1 Boot Pulley M-2499 -
13 4.02 2 4 Bolt Fange Bearing M-2029 X
14 0.11 4 Hex Nut 3/4"-10NC MH-1033 - -
15 0.01 4 Flat Washer 3/4" MH-1006 - -
16 0.04 2 Lockwasher 3/4" MH-1015 - -
17 0.03 16 Hex Nut 1/2"-13NC MH-1031 - -
18 0.01 16 Lockwasher 1/2" MH-1013 - -
19 0.00 16 Flat Washer 1/2" MH-1004 - -
20 0.05 24 | HHCS 3/8"-16NC x 1" LG. | MH-1239 - -
21 0.01 36 Hex Nut 3/8"-16NC MH-1029 - -
22 0.01 36 Lockwasher 3/8" MH-1011 - -
23 0.00 36 Flat Washer 3/8" MH-1002 - -
24 2.61 1 2 Bolt Pillow Block Brg M-99742 - X
25 0.05 1 Lower Screw Felt Seal M-2734 11-1601-A X
26 1.41 1 Lower Screyv Seal Retaingr M-2733 11-1600-A -
28 0.00 4 Flat Washer 5/8" MH-1005 -
29 0.03 2 Lockwasher 5/8" MH-1014 -
30 0.07 2 Hex Nut 5/8"-11NC MH-1032 -
UNLESS OTHERWISE SPECIFIED: .
DIMENSIONS ARE IN INCHES “E'nﬁg‘l‘
FRACTIONAL » 16 Service Tech Resources )
ANGULAR: + 0.5° -
TWO PLACE DECIMAL +0.015"
THREE PLACE DECIMAL +0.005*  TITLE:
oA TORE 10" x 30" Elev Boot Ass'y
M_2930 CHECKED DATE DWG. NO. REV
PROPRIETARY AND CONFIDENTIAL FINISH 1 1 —21 72-B OO
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
AT AR O TR AS homHOLE WITHOUTTHEWRITEN 1 noT scate prawine ~ SCALE: 1:12  ESTWT: 510.8%  SHEET 1 OF 1
3 2 1



	Sheet1
	Drawing View9


